Name:

Year 10 Advanced Mathematics Topic Test - Surds

Instructions to Students:

* Answer all questions on the questionsheet.

¢ Calculators may be used.

e Poorly presented work will not be marked

+ Complete the test in pen.

I.

Simplify (2\/5):

| sYDnEY Gires K.S |

6. Simplify V3+7/3-53

~

Simplify 9v2 +8+3 —9+/3 —8v2

8. Simplify J27+243 completely

9. Simplify 518 +4/72 /75

completely

2. Simplify V52

3 Write 5v/68 in simplest form
4. Express 47 as an entire surd
5. Simplify V13 x+/6

10, Simplify 2vx x3Jx

®  [va-2vbf2a +3b)

(c) («/5+ ly

@  W2e1fv2-1)

©  ([va+3bfava-3v5)

1. Simplify 9412 =36

12. Simplify fully 2_«/3_:%@

13, Simplify fully V12 x427
VBx2/s

14.  Expand and simplify Zﬁ(ﬁ ~«/§)

15, Expand and simplify the following:

@  [{2+3f2+1)

16.  Ineach of the following, simplify fully
and ensure you rationalise the denominator:
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Name:

Year 10 Advanced Mathematics Topic Test - Surds

Instructions to Students:

s Answer all questions on the question sheet.

« Calculators may be used.

s Poorly presented work will not be marked

» Complete the test in pen.

.1. E

Simplify (24/3)
(zJ’)" (zfv)(zfs)

6. Simplify V3+7/3-5V3 -
W3+ V3 53/

= Yx T \/ = 3\)’3 v
= I v ' E ,
7. Simplify 942 +8V3-9v3-8/2
2. Simplify«/ﬁ ') "ﬁ/ '
Y5z 7 JAx I
=203 \/
8. Simplify 274243 completely
JZ7 + 25 = x4+ 203
3, Write 568 in simplest fdrm = 303+ 275
= §x a0 =53 /
- R, o
,/ "9, Simplify 5v18+472-475
= o7 / completely
) = SJaxdE ik - Fax 3
4. Express 47 as an entire surd 23SV F bV - SV
—“:W’(ﬁ/ = iz 1z - S\
> i x V7 > oam-sa /S
- Jim / : i
10.  Simplify 2/x x3Jx
5. 6%

Simplify 13 N3
A -7/

11.

Simplify 9412 + 36
=3/

12

. Simplify fully
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13.

Vi2 x+27
V8 x2+/6
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Slmphfy fully
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Expand and simplify 27 (ﬁ ~\/_i )

= (207)(R) - (1))
=2x] 2% ‘

E |4*2\]Tih/

15. -

(a)

Expand and simplify the following:

V2432 +1) -
V22 472 4 30243

S22t avE o3 4
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16.  Ineach of the following; simplify fully
and ensure you rationalise the denominator:
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